AERRUSE
FRET—RERVBRLME WHERICHTIRR (FMR25%FE)

MERBREES o esx: i
MRk RARTRERRNG S HERRATTE RASMAEET=ZRFHO
18 57 s A 13,500m ByAE 86,300m _ BHKMEERRE | 60ni B
HA(EH)ERR | BMS7ECRIBEER: F135E7A238) 1T R R BN _ BEEE. TR H

1 EHIUTA—RERVOSASOER. Y&

5 A 48 58 68 1R 8AH 98 108 | 1A | 12AR 1R 2R 3R &t
IRTRE t 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
EHEETY t 17756 169.59| 133.18| 164.28| 120.18| 139.58| 133.37| 207.70| 153.21| 6€8.63| 127.46| 156.70 1,751.50
b thva A=y t 177.56| 169.59| 133.18| 164.28| 120.18| 139.58| 133.37| 207.70| 153.21| 68.69| 127.46 am.S__ 1,751.50
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AERKLHE

(BUE1)
KEREER KR (CEHE25FENES)
[ =ns S |
=R EEE | BEfx | 48 | 5R 6 | 7H | B8R 98 | 108 | B | 12A | 18 | 28 | 38 |
FIA — — |4R168| 5888 | 6848 | 7R4B8 | 8A8A (98128 [10838|11A78|12A58| 1598 | 2B68 | 3A6H
H®EA == — |4R198([5A208(6A28R|7R 128 (88218 (98218 [108158(11818A|12R16B(1F178|2A158|3A 188
pH 58~8.6 — 8.1 8.1 76 75 7.2 i 7.2 74 76 8.0 78 7.7
BOD 60 ma/ 2 <1 <1 <1 3 <1 <1 < A <1 <1 <1 <1
coD 90 mg/8 2 1 1 1 1 2 2 2 1 2 1 2
SS 10 mg/8 <5 <5 <5 <5 <5 <5 <5 <5 <5 <5 <5 <5
KB 3000 B/cm [BHeFBE¢F(BREET|BECT | REET | REET | REET|REST|REST|BREET|[BHET | BT
£ER 120 mg/ R 1.2 1.2 0.9 1.0 1.0 0.7 1.0 0.8 0.7 0.5 0.8 0.6
A = — — — |6HAR | — — = = = — = = =
HEA — — — — |6B28B| — — — X = == — = —
FILEJLIKEREEY |Bushiance| me/l — <00005| — — - = = = — — —
KEBRUTILFILIK
M*Sﬁsuﬁmﬁw 0.005 me/2 = — |<00005| — — = — - = = s Iy
Mﬂ&bwame% 0.1 el | == = |@woi| = | = | = | = ] =] = | = | = | =
MBUZTOEE 0.1 mg/Q — — <0.01 — — == = = e = = A
BV AALEY 1 mg/Q — — <0.1 = - — — — = — — =
AMAYOLIEEY 05 ma/Q _— — <0.05 . — — — — = p— == =
HFERUEOIEERD 0.1 ma/8 — - <0.05 —_ = = - e = = - 5
LT ALEW 1 mg/ — = <0.1 — s . — — = — =
RUEEE Tz ZIL 0.003 ma/8 — — | <oo005] — = — s = — — — =
k)OO FL 03 mg/2 — — <0.01 — . = — — = i — N
FrSHYOO0TFL 0.1 ma/2 — — <0.01 = = = — =t - — o i
SHOQAR, 0.2 mg/Q s = <0.02 — — iy = — — = — i
mig{bmE 0.02 me/ — — <0.002 — = = e — = S —
1-2-C4oOon0TAay 0.04 me/ — — | <0004 | — s — — L — — i 5
1-1-Coo0TFlbr 0.2 mg/1 — — <0.02 — — — = = = — = =
s—1-2-9001FLY 04 mg/Q —_— P <0.04 - = — == — — — — —
1-1-1-k)4#00x g 3 me/2 — — €0.01 iy — — =5 - = = = =
1-1-2-kYSO0I AR 0.06 me/Q = — | <0006 [ — = e e = = — — T
1-3-Coon7osy 0.02 mg/Q — — | <002 | — — — — — — — = =
Fro5L 0.06 mg/2 = — €0.006 — o — = — — = - —
RU 0.03 me/ ¢ — —_ <0.003 — — — — — — = — iz
FAA AT 0.2 mg/ . — £0.02 — — — — — — —_ — =
AL 0.1 mg/ s — <0.01 —_ - — L — — = — o
L RUEOIEEH 0.1 mg/2 — — <0.01 — = — — — i — — —
E5ERUEDIELED 10 mg/Q — - 0.2 — — - — — — — — A
AOERUVTOIEEWN 8 mg/Q —_ — <05 — — — = = — = = ==
TUEZT.FTEZY
Lib &, BHEELS 100 ma/Q — — 1 — — — — — — = - o
MR UTHEELE SN
LR ILAFTH U
MESHE (IHES 5 mg/Q = — <5 s g - s == — - e _
78)
JILT LAY
MEESEE (BEDE 30 mg/2 m=s — <5 — — — — = - — — —
[leEsa®)
Pz/—rgass 5 mg/Q — s <0.1 = = — — - — == — —
B 3 mg/R | — — [ <wos | — — — — — — — — =
EHEHE 5 mg/Q = — <0.05 — = = — — — — — —_
BREMSESEE 10 mg/Q — — <0.05 — — — — . — . — .
BEMTUAVEEE 10 ma/L —_ = £0.05 — — i = s e Sy = e
JOLEHRE 2 mg/l | — — [ <005 | — — — — — — — — —
[E3iE] — —_ — — — — — — |10B228| — — s s =
&R = s — = = - — — |12B258] — — — = —
FAFXLIERE 10 pe-TEQ/2| — il — — — =2 0.016 = = = = Eees
PCDDs + PCDFs — — - — - s — — 0.015 - — — — i
Coplanar PCBs — — —— — — — — — 0.001 — — - = —




AERKLS

(R#E2)
KEREER—ER (EH2EENES)
| HEa | #Fx (L&) |
AEEE EE[E | Hfx | 48 | 58 | 68 | 78 | 8A | 98 | 10A | 11A | 12A | 1A | 2H | 3R |
HWA — — |48168| 5898 | 6848 | 7A48 | 8888 |9A128|10A38|11A78|12A58| 1A9B | 2868 | 3A6H
;&R = — |4B198 (5814868288 | 7H9R8 [8B128|9A188|1088R 118148 (128108|18168 |28 128 (38148
BRIGEE ms/m 8.1 8.1 13.0 8.0 7.8 6.5 6.5 8.1 8.0 8.2 8.1 8.1
EIE] — - — — 6848 — — — — — — — — —
#5H — — — — |[6B288| — — —_ — — = = — —
7L )LIKER gEhinzs me/l =5 — |<00005| — = = e — = 25 = L
|47k e8 0.0005 mg/ — — [<0o0005| — A — - — = = — =L
HEIHL 0.01 mg/0 — — |[<00003] — = = = &= 2 i = —
& 0.01 me/Q - —_ <0.001 —_ — — o - - — fiv —
ra(iizd=FN 0.05 mg/L = = <0.02 = i, — — — = — — =
e 0.01 mg/L = = <0.001 =1 = = — = = ) — -
2T BHEhALTE] mg/l — ik €0.1 = - A1 = == = — — —
RUE{EE 7z =L pEhansE] me/l 5 — |<00005| — = = o = A e = =
M)oOooIFLL 0.03 ma/% — — <0.001 —_ — o — i = =2 = —
Fh34O00TFL 0.01 me/ = = <0.001 — = = — = = — ey 2
P2ri=l=F 5 3 0.02 mg/Q — — €0.002 = = = — — — — p =
mig{E R F 0.002 mg/2 — — |<0o0002| — = — = 2 B — — =
1-2-C4on0n0x4sy 0.004 mg/Q —_ — |<o.0004| — i — = =l — = — &
11-S4O00IFL 0.02 me/¢ — — <0.002 — —_ — = = = == — ==
s—1-2-%"900LFLY 0.04 me/2 — — <0.004 okl s — = s = =5 — =
1-1-1-kyoonxa i mg/2 — = €0.001 = — T — = — = = =
1-1-2-r)SooxTa 0.006 mg/2 — — <0.0006| — “ e e, — o —_ _ e
1-3-onoroxy 0.002 mg/ —_ — |<o0002| — — — — — — == — —
Fools 0.006 mg/2Q —= — | <0o0006| — s — e  =; —_ — — ==
e 0.003 ma/ 2 = — [<00003] — Ly = — — = = — —
FAA AT 0.02 me/L — = <0.002 = = o = — = = — ==
_utBy 0.01 mg/L = — <0.001 = | — — — =t = T £
L 0.01 mg/Q — — <0.001 e == = . — = = = 2=
FE B — i = = = = o= — |wA28| — e = = T
®ER — — L= — — = = — |[12A258] — — = = =2
A X IBRE 1 pe-TEQ/E| — = = o - = 0.0039 — — o — —
PCDDs + PCDFs s i s — — By . = 0.0038 = — s == =
Coplanar PCBs —_ — — — —_ — —_ —_ 0.000054 — —_ — —_— —_
_ HHE | #FK (FR)
R HEE | Bt | 48 | SR 68 | 7B | 88 | o8 | 10m | 1A | 12A | 1A | 28 | 38
FmA — — |4p168| 5898 | 648 | 7A48 | 8A8H (98128 |10A38|11A78|12858| 1A98 | 2A6H | 3468
wmER — — |4B198 (581480 (68288 (| 7898 |8A128|9F 188 |10A8R |11 A148B[12A10B(1B168 (28 128|3A 148
EEECES ms/m 35 26 47 49 24 19 18 17 16 16 16 15
EE = — = — |6A4B | — = = = E = = — =
HER — — — — |6A28H — — — — — — — — —
FILEILIKER BHEAALZE| mg/ il — [<00005] — — == = = — = = =
#aIK SR 0.0005 mg/Q — — |<0oo05| — - L — — — — — -
AREDL 0.01 mg/Q — — | <0.o003| — — i — — —_ — — =
F 0.01 mg/ 2 P — <0.001 = — = — =z — (= — 2
Ffion L 0.05 ma/2 — = <0.02 — — — — — = — — —
Vi 0.01 mg/ Gl — <0.001 s - —_ —_ s _ —_ — o
ST mishausE[ me/e — L <0.1 = — — — . . i — —
R)EIEEZz =L gEhance| me/l = — |<00005| — = =5 — = = . = =
k)AOOTIFLL 0,03 mg/0 — — <0.001 — — — — — == — . —
FrSHYOO0TFLL 0.01 me/Q = = <0.001 = = = = = = . — =
SHOQAR 0.02 me/L = — £0.002 —_ — . — — — = — —
mig{bpE 0.002 mg/L — — |<o00002| — — — — — — = — —
1-2-2H0nT4ay 0.004 me/8 e — | <o0.0004| — — = =5 — — — = —
1-1-SHO00TFL> 0.02 mg/0 i i <0.002 . . =S — = = — = =
s—1-2-4"/0nTFLy 0.04 me/8 — — £0.004 = s = — - — — —_ =z
1-1-1-kJHO0O0ITE 1 me/% — — <0.001 — — — — — — — — —
1-1-2-k)~O0T A 0.006 me/ 2 = — |<o0006| — — = = = = el - —
1-3-U4ann7o~sy 0.002 mg/Q — — | <00002| — — — —_ — — — - e
F25 L 0.006 me/Q = — |<o.0006| — = = = — — — e ==
PR 0.003 meg/ ¢ = — |<00003] — = — = — s Ly i e
FAR AT 0.02 me/ ¢ — L <0.002 = — = = = =5 = = =
A 0.01 me/Q — = £0.001 = — — — — = — 2 —
Ly 0.01 me/2 3 . <0.001 B, — = = = = = = i
3] — — == — == £ o — |1oB228] — — — — —
#®ER — — — — — — = — |12B258] — = = = =
BAF XL ATRE 1 pe-TEQ/R| — — — o = = 0.021 £ _— — — —
PCDDs + PCDFs — — — — L — i B 0.021 — — = o =
Coplanar PCBs — —_ — — — —_ — 0.000031 — — — — —




